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1. “Rapid Financing Instrument” and “Rapid
Credit Facility” are related to the provisions
of lending by which one of the following ?

(a) Asian Development Bank

(b) International Monetary Fund

(¢) United Nations Environment
Programme Finance Initiative

(d) World Bank

2. With reference to the Indian economy,
consider the following statements :

1. An increase in Nominal Effective
Exchange Rate (NEER) indicates the
appreciation of rupee.

2. An increase in the Real EN-“
Exchange Rate (REER) ipgdicates
improvement in trade co ess.

3. An increasing domestic
inflation relati ation in other
countries% cause an increasing
divergeej een NEER and REER.

Which ve statements are correct ?

(a) 1an@ 2only

(b) 2and 3 only

(c) 1and3only

(d 1,2and3

VGYH-U-FGT

3.

(3-A)

With reference to the Indian economy,
consider the following statements :

1. If the inflation is too high, Reserve
Bank of India (RBI) is likely to buy
government securities.

2. If the rupee is rapidly depreciating, RBI
is likely to sell dollars in the market.

3.  Ifinterest rates in the USA & European
Union were to fall, g likely to
induce RBI to buy

given above are

With reference to the “G20 Common
Framework”, . consider the following
statements :

1. It is an initiative endorsed by the G20
together with the Paris Club.

2. Itis an initiative to support Low Income
Countries with unsustainable debt.

Which of the statements given above is/are
correct ? '

(a) 1lonly
(b) 2only
(c) Both 1and 2

(d) Neither 1 nor 2
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5. With reference to the Indian economy, what
are the advantages of “Inflation-Indexed
Bonds (IIBs)” ?

1. Government can reduce the coupon
rates on its borrowing by way of IIBs.

2.  IIBs provide protection to the investors
from uncertainty regarding inflation.

3.  The interest received as well as capital
gains on IIBs are not taxable.

Which of the_ statements given above are

correct ?

(a) 1and2only

(b) 2 and 3 only

(¢) 1and 3only

(d 1,2and3

6.  With reference to foreign-owned e-comm
firms operating in India, which \
following statements is/are correct ?_

1. They can sell their o s in
addition to offering atforms as
market-places. .

2.  The degr %ﬂy can own big

. sellers on their pl#tforms is limited.

Select swer using the code given

below :

(a) 1lonl

(b) 2only

(¢0 Bothland?2 -

(d) Neither 1 nor 2

VGYH-U-FGT

(5-A)

Which of the following activities constitute

real sector in the economy ?

1.  Farmers harvesting their crops

2.  Textile mills converting raw cotton into
fabrics

3. A commercial bank lending money to a
trading company

4. A corporate body iss Rupee

Denominated Bonds oy,

Select the correct answe the code given
below : @

(a land2o0

(b) 2,3

(c) lgn nly
( d4

one of the following situations best
flects “Indirect Transfers” often talked
about in media recently with reference to
India?

(a) An Indian company investing in a
foreign enterprise and paying taxes to
the foreign country on the profits
arising out of its investment

(b) A foreign company investing in India
and paying taxes to the country of its
base on the profits arising out of its
investment

(¢) An Indian company purchases tangible
assets in a foreign country and sells
such assets after their value increases
and transfers the proceeds to India

(d) A foreign company transfers shares and
such shares derive their substantial
value from assets located in India
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With reference to the expenditure made by an
organisation or a company, which of the

following statements is/are correct ?

1.  Acquiring new technology is capital

2. Debt financing is considered -capital
expenditure, while equity financing is
considered revenue expenditure.

Select the 'correct answer using the code given
below :

(a) 1only
(b) 2only
(¢c) Both1and 2

(d) Neither 1 nor 2

With reference to the Indian o 4
consider the following statements :

1. A share of the hous @anclal
savings goes government
borrowings.

2 Dated issued
market- s in auctions form a
large t of internal debt.

Which o! e statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) Both1land?2

(d) Neither 1 nor 2

11.

A)

Consider the following statements :

1.  Pursuant to the report of H.N. Sanyal
Committee, the Contempt of Courts Act,
1971 was passed.

2.  The Constitution of India empowers the
Supreme Court and the High Courts to
punish for contempt of themselves.

3.  The Constitution of India defines Civil
Contempt and Criminal mpt.

4. In India, the Parli
the powers to m

of Court.
Which of the
correct ?
(a)

(ch 3 and 4 only
(d) " 3only

With reference to India, consider the following
statements :

1. Government law officers and legal firms
advocates, but
corporate lawyers and patent attorneys
are excluded from recognition as

are recognised as

advocates.

2. Bar Councils have the power to lay
down the rules relating to legal
education and recognition of law

colleges.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2
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Consider the following statements :

1. A bill amending the Constitution
requires a prior recommendation of the
President of India.

2.  When a Constitution Amendment Bill is
presented to the President of India, it is
obligatory for the President of India to
give his/her assent.

3. A Constitution Amendment Bill must be
passed by both the Lok Sabha and the
Rajya Sabha by a special majority and
there is no provision for joint sitting.

Which of the statements given above are
correct ?

(a) 1and 2only
(b) 2and 3 only
(¢) 1and3only
(d 1,2and3

Consider the following statements :
1.  The Constitution of India classifie
ministers into four ranks vig, Cabiret
Minister, Minister of @ with
Independent Charge, Mi f State
and Deputy Ministe

2.  The total numifer/8 isters in the
Union e cluding the Prime
Minister not exceed 15 percent of
the totdl n r of members in the Lok

Which of§the statements given above is/are
correct ? ;

(a) 1only

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

(9-A)

Which of the following is/are the exclusive
power(s) of Lok Sabha ?

1.  To ratify the declaration of Emergency

2. To pass a motion of no-confidence
against the Council of Ministers

3.  Toimpeach the President of India

Select the correct answer using th& code given
below :

(a) 1land2

(b) 2only @

(¢) 1land b

o O

ith reference to anti-defection law in India,

consider the following statements :

1. The law specifies that a nominated
legislator cannot join any political party
within six months of being appointed to
the House.

2. The
time-frame within which the presiding

law does not provide any

officer has to decide a defection case.

Which of the statements given above is/are
correct ?

(a) 1only
(b) 2only
(¢) Both1land2

(d) Neither 1 nor 2
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17. Consider the following statements : 19.

1.  Attorney General of India and Solicitor
General of India are the only officers of
the Government who are allowed to
participate in the meetings of the
Parliament of India.

2.  According to the Constitution of India,
the Attorney General of India submits
his resignation when the Government
which appointed him resigns.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

20.

(¢c) Both1land2

. (d) Neither 1 nor 2
18. With reference to the writs issued by thef]
Courts in India, consider the follow
statements : '

1. Mandamus will not lie against ak

' organisation unless it is d with
a public duty.

2. Mandamus will ﬁm ainst a
Company even K ay be a
Government C

3 Any pubh g person can be a
petition ok move the Court to obtain
t Quo Warranto

Which off the statements given above are

correct ?

(a) 1and2only

(b) 2 and 3 only

(¢) 1and3only

(d 1,2and3

VGYH-U-FGT (11-A)

With reference to Ayushman Bharat Digital
Mission, consider the following statements :
1. Private and public hospitals must adopt it.

2. As it aims to achieve universal health
coverage, every citizen of India should be
part of it ultimately.

3. It has seamless portability across the
country.

Which of the statements given above is/are
correct ?

(a) 1and 2 only
(b) 3only
(¢) 1land3 only
(d) 1,2and3

Wlth
bha

to Deputy Speaker of Lok
er the following statements :

per the Rules of Procedure and
Conduct of Business in Lok Sabha, the
election of Deputy Speaker shall be held
on such date as the Speaker may fix.

2.  There is a mandatory provision that the
election of a candidate as Deputy
Speaker of Lok Sabha shall be from
either the principal opposition party or
the ruling party.

3. The Deputy Speaker has the same
power as of the Speaker when presiding
over the sitting of the House and no
appeal lies against his rulings.

4. The well established parliamentary
practice regarding the appointment of
Deputy Speaker is that the motion is
moved by the Speaker and duly
seconded by the Prime Minister.

Which of the statements given above are
correct ?

(a) 1and 3only

(b) 1,2and3
(¢) 3and4only
(d) 2and4only
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Among the following crops, which one is the
most important anthropogenic source of both

methane and nitrous oxide ?
(a)
(b)
(c) Sugarcane

(d) Wheat

Cotton
Rice

“System of Rice Intensification” of cultivation,
in which alternate wetting and drying of rice
fields is practised, results in :

1.  Reduced seed requirement
2.  Reduced methane production
3.  Reduced electricity consumption

Select the correct answer using the code given

below :

(a) 1and 2 only
(b) 2and 3 only
(¢) 1and 3 only
(d 1,2and3

into a

desert ? *
(c) B o 0%
) Lﬂm‘EE,

Africa has become dry and
(a) Lake Victoria
(b) Lake Faguibl
yon of South India was created
ne of the following rivers ?

Gandi
by whic

(a)
(b)

Cauvery
Manjira
(c) . Pennar

(d) Tungabhadra

26.

.Which one of the following lakes&gst

21.

(13-A)

Consider the following pairs :

Peak Mountains
1. Namcha Barwa — Garhwal Himalaya
2. Nanda Devi
3. Nokrek

— Kumaon Himalaya
— Sikkim Himalaya

Which of the pairs given above is/are correctly
matched ?

(a) 1land2

(b) 2 only

(¢) 1land3

(d 3only

The term “Le heard in the news

roughly corres to which of the following

regions ?
(a) ong the eastern Mediterranean
5

egion along North African shores
stretching from Egypt to Morocco
(¢) Region along Persian Gulf and Horn of
Africa
The coastal areas of
Mediterranean Sea

entire

(d)

Consider the following countries :
1.  Azerbaijan

2. Kyrgyzstan

3. Tajikistan

4.  Turkmenistan

5.  Uzbekistan

Which of the above have borders with
Afghanistan ?

(a) 1,2and 5 only

(b) 1,2,3and4only

(¢) 3,4and5only
(d 1,2,3,4and5
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(d) TTE WE T ZET TGS

Fstfotfean it foe @
aﬂj{ﬁf;ﬂ?a Kv
*‘W% femmarer wew

3q§?ﬁ fa‘ﬁmﬁﬂﬁgﬂﬁmﬁ?
(a) %ﬂ@gm{
(b) et 31 IW
(c) had o g™
(@ w9/ gm

29.

30.

W N
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31.

S § ¥ AR, e e

9T §C MY F 2 @

(a) Had 13 2

(b) aw 2,&
(c) 4

a9 3.0 % " #, fmfafes s w fmw

Hifsa

1. a9 3.0 Nefich @ =afts o9d =9 #
JreRel W AR it g # | :

2. éaa—omﬁ,ﬂ‘faﬁamﬂﬁamm
Jeash B Td § |

3. d§ 3.0 fdt frm g oferfem 21 6
q9E YA g e ®9 @
gitanfera fomam smaT 2 |

394 HoEl § B G E 2
(a) had 13K 2

(b) a2 3N 3

(c) Wae 1303

@ 1,233

(14-A)
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With reference to India, consider the following
statements :

1. Monazite is a source of rare earths.

2.  Monazite contains thorium.

3. Monazite occurs naturally in the entire
Indian coastal sands in India.

4, In India, Government bodies only can
process or export monazite.

Which of the statements given above are
correct ?

(a) 1,2and3only
(b) 1,2 and 4 only
(¢) 3and4only
(d 1,2,3and4

In the northern hemisphere, the longest day

of the year normally occurs in the :

(a) First half of the month of June
(b) Second half of the month of June
(¢) First hélf of the month of July

(d Second half of the month of July\

Consider the following pairs :
Wetland / Lake

Hokera Wetland —
Renuka Wetland

Rudras%
Sastham@ —
How m
matched

Locati

Pradesh
ipura

Tamil Nadu

fRsiioo . RO e

s given above are correctly

(a) Only one pair
(b)  Only two pairs
(¢) Only three pairs
(d) All four pairs

31.

(15-A)

Consider the following :

1.  Aarogya Setu

2. CoWIN
3.  DigiLocker
4. DIKSHA

Which of the above are buil

open-source digital platforms

on top of
(a) 1and2only

(b) 2,3and4 3@

(0 1,3 g

(d) ]6 4

Wi
ollowing statements :

reference to Web 3-0, consider the

1. Web 3:0 technology enables people to
control their own data.

2. In Web 30 world, there can be
blockehain based social networks.

3.  Web 3-0 is operated by users collectively
rather than a corporation.

Which of the statements given above are
correct ?

(a) 1and2only
(b) 2and 3 only
(¢) 1and3only

(d) 1,2and3



33.

34.
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“FIT'RQET(, a1 % w9 o (Software as a Service
(Saa8))” & w=y #, f=fefiga syt 1 f=w
Hifsw .

1. SaaS shadl, T A<YSS I A

AFFhagaR Faffa 0 el & a7 §
TGS T B |

2. SaaS W&al, I W IR (Fema
feasaw) & wom 4 s swwS %
I 1 Hhd B |

3. ETTH, glewd 3R Ig! A SaaS b &Y
g

ST FHYAl § B e 2
(a) ad 13 2
(b) a2 3N 3
(c) had 13K 3

(d 1,23MW3

feferfga ot & #-ar w,
4 wgafda ‘gt @afte swerd %
AU fa=m i w&Eie ®9 @
??

(e %q&ﬁ%w&mﬁﬁ@rm&v
L] foran wmn 2 o 9' gedft w

et 59 & SY FHar H T B |

@ 3 aRemH R yahg ¥ wu-ay
I I wed g I TS W Th

ufifers werfig @ 2 |

(16-A)

85. “Hfer (qubit)” Wz * Ieorm Frfefgd 3

A H gET A B 2
(a) mﬂm“i
(b) ETRH TUE

(c) 39 W19 G Srenfiferat
(d) AR FER St

13K 2
b Haa 23 3
(c) haet 130 3
(d 1,233

. Fefafes $eEt w faem Hifm .

1. Sawd (arifeed) uME Saswi % i
fafreaehr sfaiial @ o= gwdt & |

2. S99 @rEved 3R W YHERTT gaE
W EH FHdl B |

3. Sawa ufestfas sfedy guf wedt & |
I HYT H B T E 2

(a) had 1301 2

(b) <hae 2 3R 3

(c) “hael 133

d 1,233



33. With reference to “Software as a Service

(SaaS)”, consider the following statements :

1. SaaS buyers can customise the user
interface and can change data fields.

2. SaaS users can access their data
through their mobile devices.

3 Outlook, Hotmail and Yahoo! Mail are
forms of SaaS.

Which of the statements given above are

correct ?

(a) 1and 2 only

(b) 2and 3 only

(¢) 1and 3 only

(d 1,2and3

34. Which one of the following statements bes
reflects the idea behind the “Fra

Orbital Bombardment System” u

about in media ?

(a) A hypersonic missile i d into
space to coun terold
approaching t.he E xplode it in
space

(b) A space '1 ds on another planet
after eral orbital motions.

) A e is put into a stable orbit

d the Earth and deorbits over a
- target on the Earth.

(d) A spacecraft moves along a comet with
the same speed and places a probe on its
surface.

VGYH-U-FGT

(17 -

85. Which one of the following is the context in
which the term “qubit” is mentioned ?
(a) Cloud Services
(b) Quantum Computing
(¢) Visible Light Commun.icatio?
Technologies
(d) Wireless Communication Technologies
36. Consider the following unication
technologies :
s 1) Closed-circuit Tel&%isi
2.  Radio ntification
3.  Wireless! a Network
Which above are considered
Short vices/technologies ?
2 only
(bYy 2 and 3 only
¢) 1and 3only
(d 1,2and3
87. Consider the following statements :

1. Biofilms can form on medical implants
within human tissues.

2 Biofilms can form on food and food
processing surfaces.

i Biofilms
resistance.

can exhibit  antibiotic

Which of the statements given above are

correct ?

(a) 1and 2only
(b) 2and 3 only
(¢) 1and 3only
(d 1,2and3

A)



38. Wifawl (Vemiferm) ¥ wed & f=fefea
FeAl 1 femm Hifd .

1. wafe, Sfamy i die 3 & o 8§

2. ﬁﬁﬁﬁﬁh’q’,maﬁmﬁmﬁﬁﬂﬁ
g 3 i &9 § war smen-Teh § &
91T 91 |

3. Wafew gy whust %y # wEw § |
94 HUA § B T A 0

(a) Fad 1 |

(b) A 2

¢ 133

@ 23R3

Hifere-19 favamemt ® Tha & forg a8 o
W Al 6y °, Freferfiaa sl w

Hifs .
1. YA @79 M 9 mRNA

YA W Hifasfies T #Hifas-19
fafifa < |

39‘

(b) hael 2 3R 3
(¢) ohad 13X 3
(@ 1,23R3
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40. 3+ gET ¥R qEE (VR yeue) yeh w
ggea 2, @ geeft W il § 992 d@va
9T M 2

1. GPS 3R Regumm (Mf¥em) wonfemt
faret & wet € |

2. fogada & ’%‘M!l
fire g1

3. fereht
qanséwmmanaganw
@%ﬁaﬁﬁil

% it R W granfiaat afea &

Eaarcﬁ%l

6. 3uEl F Hand faaged & wendt € |

4,

7. ¢ &l % FW ¥ IA g YA
AT e FER e & wehar & |

H= fw e 1w F wd I gh

(a) e 1,2,4 35

(b) *ae 2,3,5,63N 7

(c) *ad 1,3,4,63R 7

1,2,3,4,5,6 3R 7

(d)

A)



Consider the following statements in respect
of probiotics :

1. Probiotics are made of both bacteria and
yeast.

2.  The organisms in probiotics are found in
foods we ingest but they do not
naturally occur in our gut.

3.  Probiotics help in the digestion of milk
sugars.

Which of the statements given above is/are

correct ?

(a) 1only
(b) 2only
(€ 1land3
(d) 2and3

In the context of vaccines manufactured to
prevent COVID-19 pandemic, cnnsider

39.
following statements :

1. The Serum Institute of Indi.
COVID-19 wvaccine name !,Shleld

using mRNA platform
2. Sputnik V vaccine 13 ured using
vector based pla

3. Cov. r:t:wated pathogen
based v

Which tements given above are
correct !
(a) 1and 2only
(b) 2 and 3 only
(¢) 1and 3 only
(d 1,2and3
VGYH-U-FGT

40. If a major solar storm (solar flare) reaches the

Earth, which of the following are the possible
effects on the Earth ?

1. GPS and navigation systems could fail.

2. Tsunamis could occur at equatorial

regions.

3.  Power grids could be e

4. Intense occur over much
of the E

lanet.

5. FG® could take place over much

6. Orbits of the
disturbed.

satellites could be

7. Shortwave radio communication of the
aircraft flying over polar regions could
be interrupted.

Select the correct answer using the code given
below :

(a) 1,2,4and5 only

(b) 2,8,5,6and 7 only
(¢) 1,3,4,6and 7only
d 1,2,3,4,5,6and 7

(19-A)



41. ‘SeErg wHaE a0 (Fegie tEeE da)” o
faftm i & Il oA & fag fen mo
gt <t fme s R, | R 2
(a) FEYE WIS % Teevd gw fffa

Erac|
b) “SerEr wiads & I T #
why (fam)

‘Soag ufedd W oEgw TR e

e’ & srefly wfafy

(d) TIH T Iiewr FHEfwHn R fava @
g Hafta 3t famafya oot

(c)

Frfofaa wuai w faam $ifse .

1. Seey wE (R womie qu)” o
AR APl T 2 T w6
Jeash o B Toarg e I
2 oft 3% v R |

FAT FoAl THH A Ay
yrfiedt § v afvas wEw 0
&#i |

EP100, 3511 281 8§

TF IS =L

42.

(a) 1,2,43M 5

(b) Fae 1,33 4
(c) %az,saﬂw
d 1,238,435
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43.

“afy wwie s o T e % wwl
&, @ fifesa & smgvfiat o 16t A @ Fm
w0t # 7 Frferfin & @ sfufe & R
Th 1 94 HYA Bl gaw &9 § wlafafe
T 8 2

(a) AGYHT F I@ WH H HAE IAUGTE,
HeqEl Ja:Fau R I e B # |

(b) STl ¥ 98 YNF YR s9a1 B, @ w

o, qe9hadt ), HgHas!
(iereh), e, U
3R 71 ferdieT

HeAd-$erd & |
(c)

:ﬁn%i%@mﬁm%l
(d) it aigsli R diwel %

AT L od B |

.m%mgw&mﬁ%ﬁ%mﬁﬁ,

ﬁtr%ﬁaawﬁiqtﬁmiﬁlﬁw,:

1. PM,, %l 2452 H1e4 15 ug/m® § aferen
T Wgm =gy 3R PM,, w1 aifiE
T 5 pg/m3 B A 78 Fg1 =Ry |

forelt ad A, T wgEW F I=AW 'R
ftepet diam % 2R 2 # |

PM,, %8 % a0y 1 357 H -TaE
H ya T EHa 2 |

4. TG H JAANUF ASE GHT H I
gl 2 | '

I HUA H BH-A TE B 2
(a) 1,33R 4

(b) e 137 4

(© 2,33M4

(d) Had 13K 2

2.

3.

(20-A)



“Cﬁmate Action Tracker” which monitors the

41.

emission reduction pledges of different

countriesis a :

(a) Database created by coalition of
research organisations

(b) Wing of “International Panel of Climate
Change”

(¢) Committee under “United Nations
Framework Convention on Climate
Change”

(d) Agency promoted and financed by
United Nations Environment
Programme and World Bank

42. Consider the following statements :

1.  “The Climate Group” is an international
non-profit organization that drives
climate action by building large
networks and runs them.

2.  The International Energy Agency in
partnership with the Climate Group
launched a global initiative “EP100”

3. EP100 brings  together 1
companies committed dri
innovation in energy i and
increasing  competitivépe while
delivering on emissiﬂ ion goals.

4.  Some Indian co ie® are members of
EP100. 4

5. TheIn Q Energy Agency is the

iat £o the “Under2 Coalition”.

Which the statements given above are

correct ?

(a) 1,2,4and5

(b) 1,3 and 4 only

(¢) 2,3and5only

(d 1,2,3,4and5

VGYH-U-FGT

(21-A)

“If rainforests and tropical forests are the
lungs of the Earth, then surely wetlands
function as its kidneys.” Which one of the
following functions of wetlands best reflects

the above statement ?

(a)

The water cycle in wetlands involves
surface runoff, subsoil percolation and
evaporation.

(h)

(c)

(d)

context of WHO Air Quality
Guidelines, the
tatements :

) The 24-hour mean of PM, . should not

exceed 15 pg/m® and annual mean of
PM, . should not exceed 5 pg/m®.

consider following

2. In a year, the highest levels of ozone
pollution occur during the periods of
inclement weat.her.

3. PM,, can penetrate the lung barrier
and enter the bloodstream.

4. Excessive ozone in the air can trigger:
asthma.

Which of the statements given above are
correct ?

(a) 1,3and4
(b) 1and4only
(¢) 2,3and4
(d) 1and 2only



15. TR Farm § shefe T % T
¥, frefefga woat w fem Hifi .
1. I8 U Fa% 2 |

78 59 fRmrerht a7 &5 4 I 2 |

SALgdl wRa % feare & qeredt # gadh
TR &9 & @t 6t et 2 |

9 HUET § A/ g€ R 2
(a) I 1
(b) el 3
(c) 13ﬂT2
d) 23R 3

uiefiefefn Quaeie & w=yf &, R s
2 e & wga sue IvE @, Freafafea
YAl R femm Sifdn -

sa%agaﬁaﬁmaﬂtm% dgatt &
Y, Fh EHT B vEld aﬂﬁ zd,
afeafya fomam s gar 2 |

399 &4 Ul %I fed ot wes 97 Y
% fou 3w forer s ear 2 |

34 S Saal w1 gEEsw (
mmmmwmm

398 ot aEget @
eey g Ieus fru

T 1wt R | *
39 FHUH H B
(a) laﬂta

(b) 23111()

(¢) A3
(d) ,

T ¥ w1 geft 787 2 2
(a) Mesd AEER
(b) 3feT TEEem

(c) ¥l
(d) dETse IMsferm
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3.

46,

1

F—‘mm

47.

(22-

48, ﬁ'-:ri%fﬁaa ¥ BNA, TEeeH-AREwT ey
&2

1. HeHIeHl

=t (Ymi)

1 (fast)
ferafemn = (a=iian)
BT (FEH)
qTeTh
ﬁﬁquuﬁ’mm
(a) e 1,33 4

(b) Had 1,85
Fad 2, 6
3 % 6

(c)
(d)
fofe & @ fom o § “Sadw
(STERTR aTerst)” 6 a1 Bt § 2
giawa wara fufeddi (Fre fww) i
STl

Uy HERrLi w1 W R we-fmfo
qmft 1 o

Y SIE W Gl S P
TEEH HAT

el & § e el % R
Savr-aAfgend (Free foeg) I9eey wT

> oA owoN

49.
(a
(b)
(c)

(d)

“fermrarshl wgh” e foru foreama 2 2

(@) T AR ey & # anforfcus H
1 HaHq

(b) FHERER; TR g H WM FW
3! & fawE

(c) welt &=l § &g 3 &1 g
(d) T &1 3R T HaE W gaT At @
. HIET
A)



45. With reference to “Guechi” sometimes
mentioned in the news, consider the following
statements :

1. Itis afungus.

2. It grows in some Himalayan forest areas.

3. It is commercially cultivated in the
Himalayan foothills of north-eastern
India.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 3only

(¢ land2

(d 2and3

46. With reference to polyethylene terephthalate,
the use of which is so widespread in our daily
lives, consider the following statements :

1. Its fibres can be blended with wool and
cotton fibres to reinforce their properties.

2. Containers made of it can be used to
store any alcoholic beverage.

3. Bottles made of it can be recycled
other products.

4. Articles made of it can be easily dis
of by incineration with causing
greenhouse gas emissions.

Which of the statemen oh above are

correct ?

(a) land3 @

® 2and4 Q

(¢) 1and 40

d 2

47. Which of the following is notf a bird ?

(a) Golden Mahseer

(b) Indian Nightjar

(¢) Spoonbill

(d) White Ibis

VGYH-U-FGT

48. Which of the following are nitrogen-fixing
plants ?
1 Alfalfa
2 Amaranth
3 Chickpea
4. Clover
5.  Purslane (Kulfa)
6 Spinach
Select the correct answer usi e given
below :
(a) 3
b 1,3,
(c)

49,

) Restoration of damaged coral reefs

of building materials
using plant residues

Development
Identification of for
exploration/extraction of shale gas

Providing salt licks for wild animals in
forests/protected areas

(c) areas

(d)

The “Miyawaki method” is well known for
the :

(a)

50.

Promotion of commercial farming in
arid and semi-arid areas

(b) Development of gardens using

genetically modified flora

(¢) Creation of mini forests in urban areas

(d)

Harvesting wind energy on coastal
areas and on sea surfaces

(23~ A)



51. WRG WR Afufm 1919 #, widta @R % | 54. frm fivm & weaEi & weedf #§, frefifaa
F “amfaa (fered)” ot “sfafa (grawe)” FHot W faem Hifs
fowat % simia afe 7w & | Frafafes § $9a

e S N A : & %iﬁmqamﬁsri?ﬂaﬁmw-waﬁaﬂtm
1 et At & wiedta et g Tifa gee g
2. T e | 2. 741 Hfaum @ier @ % fou 5t off wa
3. YR T 7 #m, 3@ w® sfew @ R
4. yfem ot wrdt Rty F AR F BRa ¥ am
A R e 1w ad s gf AT T T FEATE g

(@ 1,233 Wmfiaﬁm&.
b) 2,334 ' (a) ¥ad 1 @
(¢) 1,33 '

§ (b) %ﬁazb

@ 1,234

52. WEIHEE "W H, &g “wum” fRd fafds s ?\ 1,798 2

91 7
(a) YedrEn
) T
© s 55. W sfaem % wevl #, Frefeifga gomel w
@ whEm | \ it %
1. Aoy
53. fr=fafiea wasar anfagi
Y e | 2. yffymegdq
2. Sz : 3. AECHYGH _
3. mﬁz@ 4 Froece wagm
;ﬁ?ﬁﬁ?@ il % @ "k w9 @ I i A o d o
s o (a) 1,23M 3
(b) et 2 (b) %az:fhu
(¢) 13M 3 (¢) 1,33M 4
(@ %3 (@ 2,334
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51. In the Government of India Act 1919, the
functions of Provincial Government were
divided into “Reserved” and “Transferred”
subjects. Which of the following were treated
as “Reserved” subjects ?

1.  Administration of Justice

2.  Local Self-Government

3. Land Revenue

4.  Police

Select the correct answer using the code given
below :

(a) 1,2and3

(b) 2,3and4

() 1,3and4

(d 1,2and 4

52. In medieval India, the term “Fanam” referred |

to:
(a) Clothing

.(b)  Coins \
(c) Ornaments :
(d) Weapons @

53. Consider the following &d; g

1.  Barindra Kum .
2 Jogesh C
T
Who of e was/were actively associated
with the @hadar Party ?
(a) land2
(b) 2 only
(¢) 1land3
(d) 3only
VGYH-U-FGT (25-

54. With reference to the proposals of Cripps
Mission, consider the following statements :

1. The Constituent Assembly would have
members nominated by the Provincial
Assemblies as well as the Princely
States.

2.  Any Province, which is not prepared to
accept the new Constitutiog would have
ement

e status.

the right to sign a se
with Britain regardj

Which of the state

Neither 1 nor 2

55. With reference to Indian history, consider the
following texts :
1 Nettipakarana
2.  Parishishtaparvan
3.  Avadanashataka
4.  Trishashtilakshana Mahapurana
Which of the above are Jaina texts ?
(a) 1,2and3
(b) 2 and 4 only
(¢) 1,3and4
(d) 2,3and 4
A)



56. WRdH sfaerm & " #, frefofeas 3w w

58. WRdE 3faem & w=y #, f=fafea § & #5

fomm HifSr “Farema” wEem 3 ?
e = fwer i e T ) N S
(b) Wheigt
1. 3dem — 3 fagm (c) WrH gyAeE
2. femm — g fagm d) ®=]
3. ey — e fagm 59. Wi shEr ¥ w #, Prfifen B @
394w gwi # A fohe gm wd gifera & ¢ fomm $ifera
1. 9 A A g adig & drefa st
(a) ﬂ%fﬁgm?é’f T YR # W g
(b) HIA TH JH Seefimem
2. EHE 3 1 AR g @
(c) %aa 3 IH M3 Hi I
@ @t 7 gm 3. I FoAt 4 wgE § faemTr
Ty yfafify & @ w &t 7
e it T Heaed wurfua 6 o |
i ¥ aeh B e J‘A.“‘x
fomm Hifsm ' i el
: p) Faer 2 3R 3
1. ¥R W YEAT WA AHAY (c) ael 13 3
fagersh & Trewrerer # g | @ 1,233
2. IS Raersft ¥ TSaHE H, 60. Wewa gy ¥ R, ffafed § #9-3
amspur faeelt @ am EL IR s g 2
TR B fEa | 1. =¥ g & wfommesy ®iE =fE g9
3. HEfeEgTers WiE Ty T H R
Wﬁﬁ;"%@ T F W 2. ©ll T A Hiferh F FE H T T W
SR ’ FHIA A I R B e off |
3. AR SR g wfers 3w wh @
Wiﬂ?&@/ﬁﬂﬁ%@? 93 &1 firn &, d 38 G B Wl w5
(a) B W FHAT & firerar o |
i : IR BT H HH-H TE E 2
(a) Wad 130 2
() 1R 3 (b) hae 2 3N 3
@ %ad 3 (c) e 137 3
@ 1,233
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56. With reference to Indian history, consider the
following pairs :
Historical person Known as

1. Aryadeva — Jaina scholar

2. Dignaga — Buddhist scholar

3. Nathamuni — Vaishnava scholar

How many pairs given above are correctly

matched ?

(a) None of the pairs

(b) Only one pair

(¢) Only two pairs

(d) All three pairs

57. With reference to Indian history, consider the
following statements :

1. The first Mongol invasion of India
happened during the reign of Jalal-u
Khalji.

2. During the reign of Ala-ud-di alji, one
Mongol assault marched i and
besieged the city.

3. Muhammad-bin-T## orarily lost
portions of nogth-v Q of his kingdom to

' Mongols. .

Which gf th ments given above is/are

correct ?

(a) 1land2

(b) 2only

(¢) 1land3

(d) 3only

VGYH-U-FGT

58. With reference to Indian history, who of the
following were known as “Kulah-Daran” ?

(a) Arab merchants

(b) Qalandars

(¢) Persian calligraphists

(d) Sayyids

59. With reference to Indian history, consider the
following statements :

1. The Dutch establis their
factories/warehouses on east coast
on lands granted to Gajapati
rulers.

2.  Alfonso de Alb ue captured Goa
from the Bjj @ ate.

3 The t India Company
estab actory at Madras on a
“plot gf'13 ased from a representative
of the Yijayanagara empire.

ich e statements given above are

c

(a)§ 1and 2 only

b) 2and 3 only

¢) 1land3only

(d 1,2and3

60. According to Kautilya’s Arthashastra, which
of the following are correct ?

1. A person could be a slave as a result of a
judicial punishment.

2.  If a female slave bore her master a son,
she was legally free.

3. If a son born to a female slave was
fathered by her master, the son was
entitled to the legal status of the
master’s son.

Which of the statements given above are

correct ?

(a) 1and 2 only

(b) 2and 3 only

() 1and 3 only

(d 1,2and3

(27-A)



61.

62.
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ffefaa Huai w fq=m i .

1. US %ew frad 61 v ggr ifa $oft verm
61 3 A 1 gHA B |

2. ft gomA adum faesh anforfSes somrmor
(External Commercial Borrowings (ECBs))
ITeft BHT I ST AT I qeT Gl & |

3. W Hal H AU, ECBs & Heag 0z
SfeH 1 T |

39T HYAT A PIA-A TE B 2

(a) had 13K 2

(b) Hae 23R 3

(c) ad 13 3

d 1,23R3

(a) had 13 2
(b) had 2 3 3
(¢) had 13 3

d 1,233
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64. ‘% &I = (BBB) % "<y #, Frafefas §

A HY G & 2
1. RBI %I Ta+ BBB % 990 &1 2 |

2. BBB, HEWM® &A% Shl & HEAH
=94 % foru wegfa e @ |

3. BBB, HEWM® &% SHl ® HRHRE
3R Yht-avT Fremist #i fawfa @ §
" WEg Al 8 |

Hr o e 1 33w :
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 uftadf we % wed §, Refifed S w@

foram Hifs

1. dfe ats # fEd F fou sgem =
faweq 2, ufadm @i emampa @
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1 agdl g8 ITWREl hal A HEerdl
(SSHETH) Y AT YEH HET R |

3w el o A ad AR 2
(a) had 1

(b) I 2

(¢) 13 23Hl

(@ Ta 1,782



61. Consider the following statements :

1.  Tight monetary policy of US Federal
Reserve could lead to capital flight.

2.  Capital flight may increase the interest
cost of firms with existing External
., Commercial Borrowings (ECBs).

3. Devaluation of domestic currency
decreases the currency risk associated
with ECBs.

Which of the statements given above are
correct ?

(a) 1and2only
(b) 2 and 3 only
(¢) 1and3only
(d 1,2and3

62. Consider the following States :
1.  Andhra Pradesh

2.  Kerala
8. Himachal Pradesh
4, Tripura

How many of the above are generally kno
as tea-producing States ?

(a) Only one State

(b) Only two States \
(¢)  Only three States ;

(d) All four States ®

63. Consider the following st3ements§ :
1. In India, credit, g agencies are
regula Bank of India.

popularly known as
ic limited company.

3. atings is an Indian credit
T ncy.

Which of) the statements given above are

correct ?

(a) 1and2only
(b) 2 and 3 only
(¢) 1and 3only
(d 1,2and3

VGYH-U-FGT
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With reference to the ‘Banks Board Bureau
(BBB), which of the following statements are

correct ?

1. The Governor of RBI is the Chairman of
BBB.

2. BBB recommends for the selection of

heads for Public Sector Banks.
3. BBB helps the Public Banks in
developing strategie c raising

plans.

Select the co

% sing the code given
below :

(a) 1 y

(b) @ only
Aind 3 only

(d” 1,2and3

With reference to Convertible Bonds, consider
the following statements :

1.  As there is an option to exchange the
bond for equity, Convertible Bonds pay
a lower rate of interest.

2.  The option to convert to equity affords
the bondholder a degree of indexation to
rising consumer prices.

Which of the statements given above is/are
correct ?

(a) 1only
(b) 2 only
(c) Both1and2

(d) Neither 1 nor 2



66. fm=fefga w faar Fifsw .

1. e omEwm fRw §%  (ufrm
FIHTEZFE 3RS o)

2. wEUTE Wenfieht e weeen (s
TFTErS g i)

3. Yu§ WEAN TS (T hIAReH
ARSI )

Re 394 # | feraen/fere wee & 2

Hae 13K 2

%ad 3

Fae 2 3R 3

1,23 3

(a)
(b)
(c)
(d)

Fr=fafiga oAt w fTar Fifs

1. B % a8 # fagaam fave & o=@ oSt @
gl g8 referaeensii # ¥ T @ |

2. fogm =1 gu g™
YOIt % R &l R |

3. faggam =1 sl fam
@l & Hg WS
mz@msmqﬁﬁirgy

67.

(a)
(b)
(c)
(d)
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68. Wi i, Frfefa # w qEERf B Frifa
F HWd FRRar 59T @a & fore Ioerl & 2

(a) I9NIH AES fawmr

(b) AT TEYH AT

() focfra feumar i fawm afiwg
@) WRed fod &

EicA i C | (Non-m ible Tokens
(NFTs)) % @=d #, R faEr
Hifdm
1. 3 m@ firegor
(feforeat fdrsigmy) g ot & ¢ |
2. q I
I g1

e & W e

8 g 9, SR At fen s
Fafere 3! FTfTfSes oF-aa

% &9 | seara R S s

FAT § BH-Y GE B 2
(a) hael 13K 2
(b) Haw 23K 3
(c) Had 13 3
(@ 1,233
70. frafofaa gmi w famm Hifsw .
TATIT T
1. HEuH —  d@TE
2. WHEMW — W WRW
3. sfmam — g wRwm
4. A9N —  odETe
I § ¥ fopaet g wdt gifoa 727 € 2
(a) aﬁ'c'fu.'*ﬂm
(b) had o IW
(e) éamﬂqyn
(@ @t =i g™
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66. Consider the following :
1.  Asian Infrastructure Investment Bank
2.  Missile Technology Control Regime
3.  Shanghai Cooperation Organisation
India is a member of which of the above ?
(a) 1and2only
(b) 3only
(¢) 2and 3only

(d 1,2and3

67. Consider the following statements :

1. Vietnam has been one of the fastest
growing economies in the world in the
recent years.

2.  Vietnam is led by a multi-party political
system.

3.  Vietnam’s economic growth is li
its integration with global supply ¢
and focus on exports.

costs and stable ex@
attracted global pfa!

Which e statements given above are
correct ?
(@) 2and4
(b) 3and5
(c) 1,3and4
(d 1land?2
VGYH-U-FGT
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70.

(31-A)

In India, which one of the following is
responsible for maintaining price stability by
controlling inflation ?

(a) Department of Consumer Affairs
(b)

(¢) Financial Stability and Development
Council

Reserve Bank of India

Expenditure Management Commission

(d)

With reference to Non-Fungible Tokens

(NFTs), consider the followi ents :
1. They enable the ntation
2 tographic tokens
3 ed or exchanged at
nd therefore can be used
of commercial
the statements given above are

corgect ?

a) 1and 2 only

(b) 2 and 3 only
(¢) 1and 3 only
(d) 1,2and3

Consider the following pairs :

Reservoirs States
1. Ghataprabha — Telangana
2. Gandhi Sagar — Madhya Pradesh
3. Indira Sagar — Andhra Pradesh
4. Maithon — Chhattisgarh

How many pairs given above are not correctly
matched ?

(a) Only one pair
(b)  Only two pairs
(¢)  Only three pairs

(d) All four pairs
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71. In India, which one of the following compiles

information on industrial disputes, closures,

retrenchments and lay-offs in factories

employing workers ?

(a) Central Statistics Office

(b)  Department for Promotion of Industry
and Internal Trade

(¢)  Labour Bureau

(d) National Technical Manpower
Information System

72. In India, what is the role of the Coal
Controller’s Organization (CCO) ?

1. CCO is the major source of Coal
Statistics in Government of India.

2. It monitors progress of development of
Captive Coal/Lignite blocks.

3. It hears any objection to the
Government’s notification relating to
acquisition of coal-bearing areas.

4. It ensures that coal mining companies
deliver the coal to end users in the
prescribed time.

Select the correct answer using the gi

below :

(@ 1,2and3

(b) 3 and 4 only %

(¢) 1and 2only

(d 1,2and4 @

73. If a particular ght under the Fifth
Schedule of titution of India, which
one of the followigg®statements best reflects
the co n it ?

(a) fvould prevent the transfer of land
of tribal people to non-tribal people.

(b)  This would create a local self-governing
body in that area.

(¢) This would convert that area into a
Union Territory.

(d) The State having such areas would be
declared a Special Category State.

VGYH-U-FGT (33—

74. Consider the following statements :

1. The India Sanitation Coalition is a
platform to promote sustainable
sanitation and is funded by the
Government of India and the World
Health Organization.

2. The National Institute of Urban Affairs
is an apex body of the Ministry of
Housing and Urban Affairs in
Government of India and provides
innovative solutions to dress the
challenges of Urban Indi

Which of the statements ab@ve is/are

correct ?

(a) 1lonly

(b) 2only » @

(¢) Both 1 ani

(d) Nei

75. Which{ on f the following has been
it under the Environment

( n) Act, 1986 ?

(a)§ Central Water Commission

) Central Ground Water Board
Central Ground Water Authority
National Water Development Agency

With reference to the “United Nations
Credentials Committee”, consider the
following statements :

1. It is a committee set up by the UN
Security Council and works under its
supervision.

2. It traditionally meets in March, June
and September every year.

3. It assesses the credentials of all UN
members before submitting a report to
the General Assembly for approval.

Which of the statements given above is/are

76.

correct ?

(a) 3only
(b) land3
(¢) 2and3
(d) land2

A)
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7 e
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g1

=
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@ 1,231 3

2. IFAHEHH HISA
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80.
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77. Which one of the following statements best
describes the ‘Polar Code’ ?

(a) It is the international code of safety for
ships operating in polar waters.

(b) It is the agreement of the countries
around the North Pole regarding the
demarcation of their territories in the
polar region.

(¢) It is a set of norms to be followed by the
countries whose scientists undertake
research studies in the North Pole and
South Pole,

(d) It is a trade and security agreement of
the member countries of the Arctic
Council.

78. With reference to the United Nations General
Assembly, consider the following statements :
1. The UN General Assembly can

observer status to the non- ;
States.

2. Inter-governmental org: can
seek observer status i neral
Assembly,

3. Permanent O in the UN
General sem can  maintain
mission@ headquarters.

Which atements given above are

correct ?

(a) 1and 2only

(b) 2 and 3 only

(¢) 1and3only

(d 1,2and3

VGYH-U-FGT
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With reference to the “Tea Board” in India,

consider the following statements :

1. The Tea Board is a statutory body.

2. It is a regulatory body attached to the
Ministry of Agriculture and Farmers
Welfare.

3.  The Tea Board’s Head Officg is situated
in Bengaluru.

4.  The Board has ov g office§”at Dubai
and Moscow.

Which of the | QA given above are

correct ?

(a) 1

(c)§ 3and 4

) land4

Which one of the following best describes the

term “greenwashing” ?

(a)

(b)

(c)

(d)

(35-A)

‘environmental costs

Conveying a false impression that a
company’s products are eco-friendly and
environmentally sound

Non-inclusion of ecological/
in the Annual

Financial Statements of a country

Ignoring the disastrous ecological
consequences while undertaking
infrastructure development

Making mandatory provisions for
environmental costs in a government

project/programme
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81. Consider the following statements :

1. High clouds primarily reflect solar
radiation and cool the surface of the
Earth.

2.  Low clouds have a high absorption of
infrared radiation emanating from the
Earth’s surface and thus cause warming
effect.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(¢c) Both1and2

(d) Neither 1 nor 2

82. Consider the following statements :

1.  Bidibidi is a large refugee settlement in
north-western Kenya.

2. Some people who fled from South Sudan
civil war live in Bidibidi.

3. Some people who fled from civil war in
Somalia live in Dadaab refugee complex
in Kenya.

Which of the statements given abovx

correct ?

(a) 1land2

(b) 2only

(© 2and3 %

(d) 3only &

83. Consider the follo %’n

1.  Armenia

2. Azerb

3. C

4. Ro

5. Uzbekistan

Which of the above are members of the

Organization of Turkic States ?

(a) 1,2and4

(b) 1and3

(¢) 2and5

(d 3,4and5

VGYH-U-FGT (37

| 84. Consider the following statements :

1. = Gujarat has the largest solar park in

India.

2. Kerala has a fully solar powered
International Airport.

3. Goa has the largest floating solar
photovoltaic project in India.

Which of the statements ve is/are

correct ?

(a) land2
2 only @

() 1land 6

(d)

reference to the United Nations
onvention on the Law of Sea, consider the
ollowing statements :

1. A coastal state has the right to establish
the breadth of its territorial sea up to a
limit not exceeding 12 nautical miles,
measured from baseline determined in
accordance with the convention.

2.  Ships of all states, whether coastal or
land-locked, enjoy the right of innocent
passage through the territorial sea.

3.  The Exclusive Economic Zone shall not
extend beyond 200 nautical miles from
the baseline from which the breadth of
the territorial sea is measured.

Which of the statements given above are
correct ?

(a) 1and2only
(b) 2 and 3 only
(¢) 1and 3 only
(d 1,2and3

~A)
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(a)

- (b)

(c)

(d)
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(d) WHe
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86. Which one of the following statements best
reflects the issue with Senkaku Islands,
sometimes mentioned in the news ?

(a) It is generally believed that they are
artificial islands made by a country
around South China Sea.

(b) China and Japan engage in maritime
disputes over these islands in East
China Sea.

(¢) A permanent American military base
has been set up there to help Taiwan to
increase its defence capabilities.

(d) Though International Court of Justice
declared them as no man’s land, some
South-East Asian countries claim them.

87. Consider the following pairs : \

Country Important reason for bei
in the news rece.

1. Chad — Setting up of nt

military b a

2. Guinea — Suspensitn of Co stitution

and nt by military

3. Lebanon prolonged

nomic depression
4. Tunisia nsion of Parliament
President

How m pairs given above are correctly

matched ?

(a) Only one pair

(b)  Only two pairs

(¢)  Only three pairs

(d) All four pairs

VGYH-U-FGT (39

88. Consider the following pairs :

Region often mentioned Country
in the news

1. Anatolia —  Turkey

2. Amhara —  Ethiopia

3. Cabo Delgado —  Spain

4. Catalonia —  TItaly

How many pairs given above correctly

matched ?

(a) Only one pair

(b) Only two pairs

(c)

(d) AlIfour

89. With refe dian laws about wildlife
protec der the following statements :
als are the sole property of
government,

When a wild animal is declared
protected, such animal is entitled for
equal protection whether it is found in

protected areas or outside.

3.  Apprehension of a protected wild animal
becoming a danger to human life is
sufficient ground for its capture or
killing.

Which of the statements given above is/are

correct ?

(a) land2

(b) 2only

(¢) 1land3

(d) 3only

90. Certain species of which one of the following
organisms are well known as cultivators of
fungi ?

(a) Ant

(b) Cockroach

(¢) Crab

(d) Spider

~-A)



91.

93.

VGYH-U-FGT (40 —

Fr=fafad gmi w famm ifsw . 94. ek Tow@ § “Graifiss” w1 Femgde
FF F TG g8 & 5 gl gr wE ¥ argarg femar 2
@l & T 7T qE (a) 3THe

1. %ﬁFﬁ - ﬁ%w (b) Eq.rgb

2. uhrE — Y W

i A (c) V&SRl

4, il (@) e

'ﬂﬂ?ﬁgﬁﬁﬁﬁﬁﬁaﬁgﬁ%ﬂﬁ? '

(a) o TH FW b

(b) et QW

(c) aﬁﬂ?ﬁ?'ﬂ‘ﬂ

(@) wft =i gm

Freafafaa g@t w faem Hifvw
/4 TG

1. AH — |

2. vaufH g ‘ZI'{FrR'

3. e fgdfm  — {b

4, W9 (d) ©IF % "I § Higl G A1 Gehdl o7 |

aqgwﬁﬁﬁmaag&%a%o ?‘
(a) HadA TH W \

(b) ¥ 3 W @

(c) m?ﬁ?@ﬂ

@ &t 9w’ gW

ny mfaa % a4,

1A 91 |

(¢) T wigare ¥ gwx W H HE g
TR

d) =™ HifE # TGS ArHal B I Fw
TR

96. T & H, vuW Wi I Faw # HwAry Gler %
fhe U wfthe gre@ @1 3guTed foFan | GmaTy
At & an § frafafgs wo § F98 o

?

- ok

s s e 2§ A v R

ITA-FEA 7 FHATY e = ol R 2 |

3. gmay Hfer A gorufeser (3 % Hfew
# Tae) wgufa TH. TEewE g
T8 off |

H1 R %z # W F= wd 3w g

(a) e 13K 2

(b) hael 23R 3

(c) haet 131 3

@ 1,233

L

A)



91. Consider the following pairs : 94,
Site of Ashoka’s Location in the
major rock edicts State of
1. Dhauli — Odisha
2. Erragudi — Andhra Pradesh
3. Jaugada — Madhya Pradesh
4. Kalsi — Karnataka
95.
How many pairs given above are correctly
matched ? :
(a) Only one pair
(b)  Only two pairs
(¢)  Only three pairs
(d) All four pairs
92. Consider the following pairs :
King . Dynasty
1. Nannuka — Chandela
2. Jayashakti — Paramara
3. Nagabhatall — Gurjara-Pratih
4. Bhoja — Rashtrakuta \y
96.
. How many pairs given above are corre
matched ?
(a) Only one pair
(b)  Only two pairs
(¢)  Only three pairs
(d) All four pairs
93. Which one of owing statements about
Sang i in ancient South India is
correct ?
(a S poems are devoid of any
reference to material culture.
(b) The social classification of Varna was
known to Sangam poets.
(¢) Sangam poems have no reference to
warrior ethic.
(d) Sangam literature refers to magical
forces as irrational.
VGYH-U-FGT (41-A)

“Yogavasistha” was translated into Persian by
Nizamuddin Panipati during the reign of :

(a) Akbar
(b)
()
(d)

Humayun
Shahjahan
Aurangzeb

recently. Which

statements correctly; i
of Ramanuja ?
(a) The of salvation was

devotio

(b) _ e eternal, self-existent and
w authoritative.

(0¥ Logical arguments were essential
means for the highest bliss.

)  Salvation was to be obtained through
meditation.

The Prime Minister recently inaugurated the
new Circuit House near Somnath Temple at
Veraval. Which of the following statements
are correct regarding Somnath Temple ?

1. Somnath Temple is one of the Jyotirlinga
shrines.

2. A description of Somnath Temple was
given by Al-Biruni.

3. Pran Pratishtha of Somnath Temple
(installation of the present day temple)
was done by President S. Radhakrishnan.

Select the correct answer using the code given
below :

(a) 1land 2 only
(b) 2and 3 only
(¢) 1and3only
(d 1,2and3
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97. Which one of the following statements best
. describes the role of B cells and T cells in the
human body ?
(a) They protect the body from
environmental allergens.
(b) They alleviate the bodys pain and
inflammation.
(¢) They act as immunosuppressants in the
body.
(d) They protect the body from the diseases
caused by pathogens.
98. Consider the following statements :
1.  Other than those made by h
nanoparticles do not exist in na!\
2.  Nanoparticles of some m ic oxides
are used in the manuf? some
cosmetics. ,
3.  Nanoparticles e commercial
products r the environment
are uan h s.
Which ments given above is/are
correct ?
(a) 1only
(b) 3only
(¢) 1land2
(d 2and3
VGYH-U-FGT

100.

(43-A)

Consider the following statements :

DNA Barcodjngl can be a tool to:

1.

2.

Which of the stateme

assess the age of a plant or animal.

distinguish among species that look
alike.

identify undesirable animal or plant
materials in processed fi

ive® above is/are

correct ?

a)

(
(b)

1 only b '

(e
o

Consider the following :
1.  Carbon monoxide
2.  Nitrogen oxide

3. Ozone

4.  Sulphur dioxide

Excess of which

of the above in the

environment is/are cause(s) of acid rain ?

(a)
(b)
(c)

(d)

1,2 and 3
2 and 4 only
4 only

1,3 and 4



SPACE FOR ROUGH WORK
e & & fore s



GGGGGGGGGG

SPACE FOR ROUGH WORK

FH ®W F foru wTE



SPACE FOR ROUGH WORK
o= @ & fore s |



SPACE FOR ROUGH WORK
& TN & fore sre



DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : VGYH-U-FGT Test Booklet Series
TEST BOOKLET
GENERAL STUDIES

Time le : o Hours

2.

3.

9.
10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, D CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TOR G PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode an
Booklet Series Code A, B, C or D carefully and without
appropriate places in the OMR Answer Sheet. Any omissio

Sheet liable for rejection. :

You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items (ques , EaclPitem is printed both in Hindi and English.
Each item comprises four responses (answe ill select the response which you want to mark

on the Answer Sheet. In case you fegl that is more than one correct response, mark the
on

the Roll Number and Test
on or discrepancy at the
pancy will render the Answer

response which you consider the best. I e, choose ONLY ONE response for each item.
You have to mark all your responség, O. the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks. :

Before you proceed to mark i swer Sheet the response to various items in the Test Booklet,
you have to fill in some paréi the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have comple in all your resimnses on the Answer Sheet and the examination has

take away with yo
e appended in the Test Booklet at the end.

Sheets for r 0
Penalty for n| SWers : :
THERE i PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

E QUESTION PAPERS.

four alternatives for the answer to every question. For each question for which a wrong answer

been given by the candidate, one-third of the marks assigned to that question will be deducted as

Ity. .

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

concluded, you sh% d E Il'd to the Invigilator only the Answer Sheet. You are permitted to
ooklet.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

AT 3 : IS 1 (241 T 36 Gl o 0@ g5 T B9 2 |

VGYH-U-FGT ' (48-A)



